Experimental Probability Worksheet
Show your work!

Name: %&/f/ Per:
"

1.) What is the theoretical probability that an even number will
be rolled on a humber cube? % oniCube | Frequenzy
by 1 8
= 2 3
2.) What was the experimental probability of how many times an 3 9
even number was actually rolled using the table? 4 6
i .-
3 Tl 5 4
3.) Theoretically if you roll a number cube 36 times, how many 6 6

times would you expect to roll the number one?
-é:x 26> b fiwaes
4.) How many times did you actually roll the number one in the experiment?

2 Hmes

5.) What is the theoretical probability for rolling a number greater than 4?
2 . L
c 3

6.) What was the experimental probability of rolling a number greater than 4?
A0 & e
b 18

7.) What is the difference between theoretical and experimental probability?

8.) If acar factory checks 360 cars and 8 of them have defects, how many will have
defects out of 1260?

8 . L L 4 1260 =
260 45 ‘th AB

9) If acar factory checks 320 cars and 12 of them have defects, how many out of 560 will
NOT have defects?

308 . 11 11, 560 = 539
220 20 g0

10.) You plant 30 African violet seeds and 9 of them sprout. Use experimented probability to
predict how many will sprout if you plant 20 seeds?
i = --‘-5-— _?.2, 20 -
SO IO o) - b

11.) If you are picking a humber between 1-20 what is the probability that you will pick a
humber greater than 14 or less than 4?
e —— A"

b e 3
B

20



12)) If you are picking a number between 1-20 what is the probability that you will pick an even
number or amultiple of three?  but 6, 12 amel I8 ane both. | =

») + b .&q S0 Wwe Canmt Cotund FHRhern~ ﬁm‘%
‘3/2@
13.) If you are picking a number between 1-20 what is the probability that you will pick a
multiple of two or a number greater than 15?2 /5 3
ot T e o - Rk~
14.) Amanda used a standard deck of 52 cards and blamands| 4 | | ”]
selected a card at random. She recorded the Hearts 1L 9
suit of the card she picked, and then replaced “Spades P
the card. The results are in the table to the ‘tlm_m"l"****_ll‘
right. L] 3{/30
a.) Based on her results, what is the experimental probability of selecting a heart?
q/30 = Yo
b.) What is the theoretical probability of selecting a heart?
b
I.+

c.) Based on her results, what is the experimental probability of selecting a
diamond or a spade?

!
%o - 5/5
d.) What is the theoretical probability of selecting a diamond or a spade?
%y =

e.) Compare these results, and describe your findings.
The exporimental Pmmblbﬂ«j ool HReoreti col

pribabuility s dAﬁ’f.bwr-i

15) Dale conducted a survey of the students in his Eye
classes to observe the distribution of eye color. color | Blue | Brown | Green | Hazel
The table shows the results of his survey. Number | 12 58 5 8

a.) Find the experimental probability distribution for each eye color.
12-. 3 56, 29 2.4 2 1
P(blue)= 8 ~—20 P(brown)= 8 ~ 4o P(green)= g0 ~ 4Y  P(hazel)= _80 ~ (0

b.) Based on the survey, what is the experimental probability that a student in Dale's
class has blue or green eyes?

[4/‘80 5 -T/"fD

c.) Based on the survey, what is the experimental probability that a student in Dale's
class does not have green or hazel eyes?

10/80 [ '7{8

d.) If the distribution of eye color in Dale's grade is similar to the distribution in his
classes, about how many of the 360 students in his grade would be expected to
have brown eyes?

29 x 30 * bl
“40



16.) Your sock drawer is a mess! You just shove all of your socks in the drawer without
worrying about finding matches. Your aunt asks how many pairs of each color you
have. You know fthat you have 32 pairs of socks, or 64 individual socks in four
different colors: white, blue, black, and tan. You do not want to count all of your

socks, so you randomly pick 20 individual Color of 2ock | White| Blie | Black | Tan

socks and predict the number from your

results. # of socks 12 1 3 4
a.) Find the experimental probability of each
. 2. 5 Y 3 Y 1
P(white) = 20> 5 P(blue) = __/20 P(black)= _ /20 P(tan)=_/20° /s
60°/s 5% US A5%

b.) Based on your experiment, how many socks of each color are in your drawer?

(white) = 26 (blue)= __ 2 (blacky = __ IO (tany=__ "% _
% % b4 hpx €4 3/20)( Y ‘4/%)( o4
= 38.4 = 32 = il =12.8

c.) Based on your results, how many pairs of each sock are in your drawer?
(white)= __ 19 (blue)= __ 2 (black)= __ 9D (tan)= __ &

%xaa Y20 %32 J20 % 32 Yoo x32
=1a. =1-b = -2 = bt

d.) Your drawer actually contains 16 pairs of white socks, 2 pairs of blue socks, 6 pairs of
black socks, and 8 pairs of tan socks. How accurate was your prediction?

Pr‘e'H'\{ close. .

Exercises 17 - 24: A single die is rolled. Find the theoretical probability of each.

s |

17. P3)= _ (& 18. P(9)=_ DO 19. P(even#)=_ /2

o

20 Pla#t>1)=_ 7o 21. Pa#<1)=_0O 22. Pla#<7)=__|
s e . %3

23. P(a # divisible by 4) = 24, P(a # 3 or greater) =

Exercises 25 - 287 Find-the odds in me*si@l? die is rolled.
“‘—_““"‘*w_ﬁ = e
25. A#3 = \\M,‘_g_f_); A # divisibleby 4

. e

27 M‘"’W 28. Aneven#
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Exercises 29 - 36: 2 dice are rolled.

l
29. P(sum of 2) = /36
18, = l/
31, P(sum of even #)= _ /3L~ /2
Wy = B
33. P(sumof <10)= 730~ 7%

.
35. P(sum of 11)= _ /36> )®

Find the theoretical probability of each.
30. P(sum of odd #)= _/31= '/

Pla. o T

32. P(sum > 6) = /3(., /12..
e

34. P(sum of < 8) = 31/30 ¥ VIR

&y 5
36 . P(sum of 5 or greater) = 3/5@“ 7b

Exercises 37 - 46: Find the odds in favor of each outcome if 2 dice are r'olled_/

sum of 2
39. Asum<10 _ >~

41. Asumis aneven #

43. A sum of 11

45,_A"sum of 5 or greater

38. Asum > 6

40. }su is an odd #

42, Asum< 8

T

44, “A-sum of 7 or 11
~
\\\

\\\

46. Asum of dor9




